This Question Paper Booklet contains 20 printed pages.

50 -7 fedeht % 3i=avid 20 gfEd 98 T
Roll No.

S Sode YO B3HISH

CHEMISTRY set/dz | A

Day and Date of EXamination ...
(wdrert =1 T 9 femmeR)

Signature of Invigilators L

(frfiereht & g&amen)

General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper Booklet.
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Important Instructions

1. This Question Paper Booklet contains two Question Papers—one based
on revised study material marked as NEW SYLLABUS and the other
based on pre-revised study material marked as OLD SYLLABUS.

2. NEW SYLLABUS is compulsory for those who have registered for 2015-16
(Block-I and Block-Il) admission and Stream-II of 2016 admission.
(Those who are appearing in September—November, 2016 under
NEW SYLLABUS.)

3. OLD SYLLABUS is compulsory for those candidates who had registered
before 2015-16 (Block-I) admission.

4. Candidates are to answer only one Question Paper from the given two
Question Papers.

5. Candidates are not allowed to mix questions from the two given
Question Papers.
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NEW

This Question Paper contains 30 questions.
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CHEMISTRY
WA -fome
(313)
Time : 3 Hours | [ Maximum Marks : 80
a3 "0 | [ qUife : 80
Note : (i) All questions are compulsory.

1.

(i)

(iii)

(iv)
(@)
(i)

(iii)

(iv)

Marks allotted are indicated against each question.

Each question from Question Nos. 1 to 10 has four alternatives (A), (B), (C)
and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting
multiple-choice questions.

Use log tables, if necessary.

a«ft Il o IW 3|

T T % A 30k 37 for@ T |

TH T 1 ¥ 10 9 & I I J =R fawhen (A), (B), (C) @1 (D) g, fomm 4 =
3TYE B AR foshedt § ¥ OE I A a9 Ao IW-YRedRl H TR T ok A 3T
o | sig-Tarekedt sl o fotu fafes wme et foan stmorm|

Ifq 3TETIH &, Al A e T TA |

In an electrochemical cell

(A) chemical energy changes into electrical energy

(B) kinetic energy changes into electrical energy

(C) potential energy changes into kinetic energy

(D) kinetic energy changes into chemical energy 1

G IRIEE R MR
9

A)  TEES Sl bl 9Td el ° Iiedq gidr @
9

(B) TIfcIST Sostl ol AT el B qEdA il &
(C) Teufast et =1 it St o uftad g 8

(D) TIfast eIl T T SHeit § aiadd gidr @
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2. In the spectrum of hydrogen atoms, the series which falls in ultraviolet region
is

(A) Lyman series
(B) Balmer series
(C) Paschen series

(D) Brackett series

TTEGISH THTY] o TeaH | HH-H Auft e & § 2t 37

(A)  TEHA Hoft
(B) =T 2uft
(C) T it
(D) She aoft

3. Which of the following species is not paramagnetic?

(A) Oy
(B) O
(C) O3
(D) 03"

Freforfiaa § & F-o Theie g T8 B 27

(A) O,
(B) O}
(©) 03
(D) O3

313/HIS/105A 4



4. 290 mL of a gas at 17 °C is cooled to —13 °C at constant pressure. The new
volume of the gas will be

(A) 280 mL
(B) 260 mL
(C) 270 mL
(D) 290 mL 1

fOR e@ W 290 mL T & 17 °C ¥ —13 °C d 3 fohd1 SIIdT 81 26 19 &1 991 SdA
FT BITY

(A) 280 mL
(B) 260 mL
(C) 270 mL
(D) 290 mL

5. The concentration of Ag™ ions in a given saturated solution of AgCl at 25 °C is

1-06x 107 g ion per litre. The solubility product of AgCl is

(A) 0-353x10710
(B) 0-53x10710
(C) 1-12x10710
(D) 2-12x1071°

25 °C W AgCl % Gqgd faere™ § Ag* o1 it @igar 1.06 x 107° g m ufd «fieX B
AgCl &1 faerar H%d ¢

(A) 0-353x10710
(B) 0-53x10710
(C) 1-12x10710

(D) 2-12x10710

313/HIS/105A 5 [ P.T.O.



6. The size of colloidal particles is in between

(A) 1077 c¢m and 1072 cm
(B) 10~ cm and 1077 cm
(C) 10™° cm and 107! cm

(D) 1072 c¢m and 1072 cm

FHIATSS! U Bl SRR 340 ¥ Tordeh =l § BT &7
(A) 1077 cm 3 107 cm

(B) 107 cm 3R 1077 cm

() 1072 cm 3R 107! cm

(D) 1072 cm 3R 1073 cm

7. Hydrogen peroxide is used as
(A) oxidizing agent
(B) reducing agent

(C) both oxidizing and reducing agent

(D) drying agent

ETESIST TS ol 39T ford &9 T glar 27

(A)  ATRTRRH
(B) 3TU=h

(C) @I, AT 3R AT=RH

(D) I A AT HRS

313/HIS/105A 6



8. The magnetic moment of Ni®* ion is
(A) 3-87BM
(B) 1-87BM
(C) 3-52BM
(D) 2-87BM 1
[At. No. of Ni = 28]

Ni2* TR 1 greshi et ern 8

(A) 3-87BM
(B) 1-87BM
(C) 3-52BM
(D) 2-87BM

[Ni oAl TRHTY] 98T = 28]

9. 60 g of an organic compound on analysis gave the following results :
C=24g, H=4gand O =32 g
The empirical formula of the compound may be
(A) CH,O0,
(B) C,H,O
(C) CoH04
(D) CH,O 1

60 g % T ek A 1 ORI A T FHHTRIT FHomH I 3
C=24g H=4g3IM0=32¢g
1k 1 AT 9 & Thal §

(A) CH0;
(B) C,H,0
(C) CoH04
(D) CH,O

313/HIS/105A 7 [ P.T.O.



10. The reaction among primary amine, chloroform and alcoholic caustic potash is

called

(A) Wurtz reaction

(B) Frankland reaction
(C) Cannizzaro reaction

(D) Carbylamine reaction

AT UHH, ARG 3T Ueehigiioleh hifedh TIeTRl o i § TR wgardl §

(A) T Afyfsen
(B) erete frforan
(C) iR srfufsran

(D) HIfsieredi= Afufsran

Write down the names of three quantum numbers and write what they
represent.

A Fen TSl o AW fofay iR ffey 6 3 fraer gfafe i 2|

Calculate the wavelength of the spectral line in Lyman series corresponding to
n=3.

n =3 % Td AHT AU H TFeH! [T o qUIeed ol Ikl iy |

In an experiment, 5-0 g of CaCO3; on heating gave 2:8 g CaO and 2-2 g CO,.
Show that these results are in accordance with the law of conservation of mass.

TH T H 5.0 g CaCO5 &l T A W 2.8 g CaO 3R 2.2 g CO, 3al gl gy foh A
aRoTe geq9 % TEor % fEm @ qreH a2

Define empirical formula and molecular formula.
TATIAT! G 3R 3Tifveres g3 <l afedmn i)

What is coagulation? Why does clotting of blood take place on applying FeCl;
solution?

Thad 1 BT 8¢ FeCly faemm e @ e = =i 2 S 27

Differentiate between an isolated system and a closed system.

fogeh T 3R waa e # 3T e hifsu |

313/HIS/105A 8



17. Write down the structure and uses of Bakelite. 2

TohclT3e shl TLEAT 3T 38k ITAN hl foifgw |

18. Why detergents containing linear alkylbenzene sulphonate are better
detergents over branched counterparts? 2

T Ufchardsie Tchie Il STIHTSIh, MR Ufcshalsisia ohie aTdl 3TIHTSIh hi STUETT

ST BId 7, 7

19. Write down the balanced chemical equations for the following : 2

(a) Stannous chloride (acidified) reacts with Oj;.

(b) Copper reacts with concentrated H,SOy4.
frfafiaa & fou ggfcra Tamte e fafem

(%) WAH FANEE (A), O o | Al et 7|
(@) =W F @ HySO, & afufsmn it 21

20. Calculate the bond dissociation energy of HCl. Given, the bond dissociation
energies of H, and Cl, are 430 kJ mol™! and 242 kJ mol ™! respectively and

A sH° for HCl is —91kJ mol L.

4
HCl & @y foaism s &l uieefad @&iwe| f@nm ™1 8, H, 3R Cl,
F1 ey foRis e wH: 430 kJ mol™! 3R 242 kJ mol™! 8 91 HCI & fou
A sH® =-91kJ mol ™! 2|
21. (a) Calculate the normality of a solution of NaOH, if 0-4 g of NaOH is
dissolved in 100 mL of the solution.
(b) The relative lowering of vapour pressure produced by dissolving 7-2 g of a
substance in 100 g of water is 0-00715. What is the molecular mass of the
substance? 4

(%) afe0-4 g NaOH &l 100 mL ferm & fae #td 2, d@ NaOH & faeram it Jideran
! gfehierd it |

(@) Tt gard & 7.2 g & 100 g Ut A foolm &4 W am-ge § |nfdes staaH
0-00715 BT 21 9e1d o AT{0eh g9 ohl qfehfetd Hifsu|

313/HIS/105A 9 [ P.T.O.



22. Derive the expression for the degree of dissociation of weak acid. What is the
effect of common ion on the degree of dissociation?

g 3TF il oS- o fote, stfveis o ifse)| foeism i 7w ® 3wfs e @i
FIT U il &7

23. (a) Define the order and molecularity of a reaction.

(b) The half-life of a substance in first-order reaction is 15 minutes. Calculate
the rate constant.

(%) Terelt srfsrfsran it wife 2 efoeeran =0 ufanfya fifsg|
(@) vom Wit i srtufsran § wared it 319y 15 fiFe 81 & foorme &1 aftefaa S|
24. (o) What is lanthanoid contraction? How does it affect the chemistry of post-
lanthanoid elements?

(b) Give the type of hybridization and magnetic behaviour of [NiC14]2_ and
[Ni(CO)4] complexes. [At. No. of Ni = 28]

(F) TIIAIES THa- 1 TAT &7 ITg AAIES o o6 & qwl o WEF Dl {ohd TRR T
HLAT 27

(@) [NiCl4]?~ 3R [Ni(CO),] TFell & TehUl Hl YR TR Frarehid FaeR aiferg| [Ni <l
TTHTY] TEAT = 28]

25. (a) Write the name of K[[NH3),(NO3)4] complex.

(bp) Name the type of isomerism present in [Cr(H;0)g]Clz and
[CI"(I‘IQO)5C1]C12 . HQO

(c) What are interhalogen compounds? Give two examples.

(%) K[(NH3)o(NO3),] @pet =i AW feafau |

(@) [Cr(H,0)g]Cls R [Cr(H,0)sCl|Cl, -H,O | fh8 YR i gHe=adr gl &7

(1) STAEArSE Ak A1 E &7 /¥ IaTe S|

313/HIS/105A 10



26. How will you prepare? (Give chemical equation.) 4

(a) Ethene from chloroethane
(b) Toluene from chlorobenzene
(c) Butan-1-ol from propyl magnesium bromide

(d) 2,4,6-Tribromophenol from phenol

219 forg TR forem st ? (Tmrtes wis difSe)
() FANTIT F 0

(@) FARSSE | e

(M) ifue Tefifem SmEEe @ - 1-Afa
(I) HHEA T 2,4, 6-2SSHGHIA

27. (a) According to VSEPR model, what is the expected shape of molecules and
arrangement of electron pair of AX 5, AX 4 and AX ¢ types of molecules?

(b) State the postulates of VSEPR model which help in predicting the above
information. 6

(%) VSEPR #ied & IgER AX ,, AX, IR AX g AT ol 3TUAd Tehid 3R Iorae
T I EE =T Bhl?

(@) VSEPR #ied &l 3 @GR! i T HIT, ST foh 30 a1 sl wiorsamft w
T wEmEar adt 2

28. (a) When an ore A of manganese is fused with KOH in the presence of air to
give a green-coloured compound, this green-coloured compound reacts
with O3 to give a purple-coloured compound B. Identify the compounds A
and B and also give chemical equation.

(b) Write down the reactions of XeF, and XeFg with water. 6

(%) <& BT % Tk TE A H g i ufeafa § KOH % @y wferd forem smar 2, @ &
T 1 A aHaT 81 39 & T o Al O o A MR A T ST 16
AifiTeh B oan 2| Aifiieh A 3R B &l Ug= hifore qei Tmf—es duieron oft €|

(@) XeF, 3R XeF, @i it o @19 Afafswamd foafau|

313/HIS/105A 11 [ P.T.O.



29. (a) Write down the names of the following organic compounds :

() CHz—CH=CH—CH—CH—CHj,
C,Hs CH,

CH;
(i)
CH;

(b) How will you confirm the presence of nitrogen in an organic compound?

(c) What is Lucas test? What is its use?

(%) Tfciaa smeie e & W e

(i) CH3—CH=cH—c|:H—CH—CH3
C,Hs CH;

CH,
(it)

CH,

(@) T HTeeh A § A8 i ufedfd 19 fohe TR giHfeaa ar?
(TT) T T R 7 FHRT IUFT T 27

30. Explain the following (give chemical equation also) :

(a) Hoffmann bromamide reaction

(b) Hell-Volhard-Zelinsky reaction
(c) Wolff-Kishner reduction

freferfiaa st aoi hifse (Tamafe afieor off difsw) -
(F) TIHUM FHHIES ANT(HAT
TA-aIeTS -Sferehl FAfarfsRa

(TT)  ATeh- TR TI=EE

)
)

(@

313/HIS/105A 12



OLD

This Question Paper contains 25 questions.

T8 G-U o 3T=diid 25 T B |

CHEMISTRY
LIRERERIC
(313)
Time : 3 Hours | [ Maximum Marks : 80
a3 "0 | [ qUife : 80
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) Al questions from Section ‘A’ are to be attempted.
(iii) Section ‘B’ has got more than one option. Candidates are required to
attempt questions from one option only.
ot : () 39 IW-9 4§ 9 ©Us E—Wug 7 Ud WU o |
(i) @ ‘e % el TH FH TA FET 2|
(i) @ve ‘T T UF G Afeek faerey T | whenfoiai #1 Faet vk faehea & € g9 & W A B

SECTION-A
Yus—-3H
1. Define the term ‘mole’. 1
A’ UG ol TRATNT I |
2. Which reagent is used for oxidizing primary alcohols to aldehydes? 1
TR Uehlaicll &l Ufcearse § 3tiadichd i o T hF-T1 e T Bl &7
3. Write the names of two important types of compound lipids. 1
Y TAfUs & g1 AUl SR o 19 faiiag |
4. In the given reaction 2A + 4B — 3C + 4D, when 5 moles of A react with 6 moles
of B, then—

(a) write which species is the limiting reagent;

(b) calculate the amount of C formed. 2

& T AT 2A+ 4B 53C+4D W 9 A% 5 O, B % 6 Ol 9 N F9 g,
q—

(%) warRy fo wF- Tiefls dma AfewEs g,

(@) = g% C ol A giehierd shifs|

313/HIS/105A 13 [ P.T.O.



5. Write the significance of the principal (n) and magnetic quantum numbers (m,).

& (n) 3R FFhT T T&AT (m,) Tl A1eiehdT FamEy |

6. The critical temperature T, and critical pressure P, of CO, are 30-98 °C and
73 atm respectively. Can CO, be liquified at 32 °C and 80 atm pressure?
Justify your answer.

CO,, 1 SHifde A T, IR Hifdeh a6 P, HHAI: 30-98 °C AR 73 atm | FT CO, hl
32 °C 3TR 80 atm @ W Falehd fohaT ST Tehal 27 3104 IW i ¥ Hifvm |

7. What are cohesive and adhesive forces? How do they govern the wetting and
non-wetting properties of liquids?

HIEIToE 3T TEEifta 5@ 9o 27 F 5 6 AR 3T AT qoremt 6 fohw yeer i
L 27

8. Derive a relationship between AH and AU for the reactions involving gaseous
reactants and gaseous products.

Tt SRt 311 TTE T Icarel § Herg, STHihstl o Tl AH 3R AU o o< §a4 gcq
EAE

9. Giving one example for each, differentiate between ‘roasting’ and ‘calcination’.

Tk 1 Teh-Teh 3aTEW od B WA 3R [H&arq | fave hifsm)

10. Determine the empirical formula of butyric acid. Its elemental composition is
as follows :

C=54-2%,H=9-2%, O =36:-6%
If the molecular mass of butyric acid is 88 u, then find its molecular formula.

[Atomic mass : C =12 u, H=1u, O = 16 u]

o

Sfefan 37 I YATIATA T [T HITSIT | THRT ATiaieh doe T TR ¢

C=54-2%, H=9-2%, O =36-6%

Ifg Sfefer ot 1 3nfodes s2mMM 88 u , 1 ST A[-HH FTd i |

[WH §&H : C = 12 u, H=1u, O = 16 u |

313/HIS/105A 14



11. (@) At a constant temperature, a gas occupies a volume of 200 mL at a
pressure of 0- 720 bar. It is subjected to an external pressure of 0-900 bar.
What is the resulting volume of the gas?

(b) Which wrong assumptions of kinetic theory of gases led to van der Waals
equations? 4

(%) TOR Q™ 3 0720 bar T@ R frel 78 &1 31¥a= 200 mL 2| I 35T &I g1
0-900 bar X feam ST, a1 79 1 TNOMH TG F=1 B e

(@) i o T fgra 6 foh TTora aronsti o HRU arel JTed THIehT 17

12. Consider the following reaction :
CH4 (g)+ HoO (g)= CO (g)+3H, (g), AH =+ve
(@) Write an expression for K , for the given reaction.
(b) In which direction, reaction will proceed by—
(i) increasing the pressure;
(ii) increasing the temperature;

(iii) using a catalyst? 4

frferfiga stfyfsran W fo=m il -
CH,4 (g)+ HyO (g = CO (g)+ 3H, (g), AH = &dTcHS
() @S Al o feTT K, =1 =St forfan |
(@) Frefefaa affefa o stfvufsn forg foem @ grft?
() < T W
(ij) T TEH W
(iti) 3IH TN HA T
13. (a) Write the names of the following complexes :
() [Fe(NH3)4Cl5]Cl
(W) [PtNH3)oCly]
(b) Explain the following terms, giving a suitable example in each case :
(i) Ligand
(ii) Coordination sphere 4
(%) Frffaa ggat & Tm fafaw
() [Fe(NHgz)4Cly]Cl
(@ [Pt(NH3),Cly]

313/HIS/105A 15 [ P.T.O.



(@) YF TaEIT H Ueh-Teh 3rad 3810 4d gU FHefaiRad uai i 2t i
() Gt (femie)

(ii) IUEEEAINTF TS

14. (a) Write the structures of A, B, C and D in the following reactions :

Q) conc. HNOj s A Sn/HCI s B
conc. Hy,SO,4

Br,/KOH o _NaNO,/HCI |

(i) CH.CH,CH,CONH > s D
ST 2 273 K-278 K

(b) Exemplify the following reactions :
(i) Aldol condensation
(ii) Hell-Volhard-Zelinsky reaction

(%) frfafaa sifufsensti & A, B, € 3R D & wt=mn fafia

. s HNO Sn/HCI
0 ) s 4 B

BTQ/KOH s C NaNOQ/HCI R

>D
273 K-278 K

(i) CH,CH,CH,CONH,

(@) Frefafaa sifafwanet w3 afeq Tega FI :
(i) Tesid To
(i) TA-TANATS-Siforeehl AT

15. Explain the following observations :

(a) Generally there is an increase in density of elements from titanium to
copper in the first series of transition elements.

(b) Transition elements and their compounds are generally found to be good
catalysts in chemical reactions.

o~

fefaftaa el i =aren Fifsa .

TV Tl sl ToH A0l H g | i I AT dw@i o o § gty widl 8l

AU dxd 3T 3ok 1Tk TEEeh SIITHRATST § THTAT 378 3Tk hl Hitd il
Fd 2

€3

)
)

(@

313/HIS/105A 16



16. (a) Calculate the pH of 102 M aqueous solution of KOH.

(b) What are acidic buffers? Give an example of acidic buffer. 4

(%) 1072 M KOH % Siefta faetam 1 pH uftsrfera Fifsm)

(@) 3T a6 T &7 ST TR T Tsh ISR SIS |

17. Write the molecular orbital electronic configuration of the following species.
Calculate their bond order and predict their relative stability :

O,; O3

[Atomic number of O = §] 4

Frefafaa wfiefist = enfras e saas o= fafay| s3h smay wife aferfaa s
3T ek |UeT TR 6t amyfe hifer

Og; O3
[ O ! T §&1 = 8 ]
18. (a) Name the four blocks of elements in the modern periodic table. What is the

basis on which elements are categorized into four blocks?

(b) How do atomic sizes vary in a group and in a period? Give reasons for the
variations.

(c) Explain why the electron gain enthalpy of fluorine is less negative than
that of chlorine. 6

(%) omgf® AEd ARt § al % AR satel & AW fafaw) d@i w3 9r sare |
GTTeRTuT a1 ST 4T 27

(@) et ot § R sradss # WA M e wR ufEfda ddr 27 ufteada @ R
it |

(TT)  TIARIA T FAF TR T, FARMA hl gorT H FH EOMcHSE Al Bl 2, AT
Hifsre |

313/HIS/105A 17 [ P.T.O.



19. (a) State Hess’s law of constant heat summation.
(b) Calculate the enthalpy of formation of benzene.

Given the following :

1
CeHe () + 3502 () = 6CO, (@) +3H,0 () ; AH®=-3267kJ mol™!

C (graphite)+ Oy (g) > CO5 () ; A pH®=-393-5kJ mol ™’
H, (@) + %oz € —>HyO0); AsH°=-28583kJmol’

(F) TG F TOR 91 Gehe 499 sargu|
(@) S il T9aT T gitetad Sifsa |
fem g .
15

CeHg () + 302 () - 6CO, (@) +3H0() ; AH®=-3267 kJ mol™!
C (1) + 04 (g) > COy (g) ;A pH® =-393-5kJ mol ™

1
Hy (g)+ 502 (8) > H20 ) ; AgH°=-285-83kJmol”’

20. (a) How are the following conversions carried out?
(i) Ethanol to chloroethane
(ii) Benzene diazonium chloride to bromobenzene
(iii) Chloromethane to propyne

(iv) Chlorobenzene to 2-nitrochlorobenzene

(b) Account for the following :

(i) Haloalkanes are polar in nature, even then they are immiscible in
water.

(ii) Haloarenes are less reactive than haloalkanes towards nucleophilic
substitution reactions.
(%) Ffafaa saraor fora TR foe S 87
(i) AT O FATSE
(i) SIS STEUSIRM FAEe o S
(i) FATHAT G TITE
(iv) FASSH T 2-TTEZ AR
(@) fTr=fafaa & fou swro dfse .
(i) T TeAUehd gata Tehfd & B 2, TR oft 3 St & Afyemofir g 21
(ii)  TEREE fcreera STfefsRa o Wi SeTed, SeiitehH oh TueT u STfvframfia g
gl
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SECTION-B
Qug—d
OPTION-I
foreheu-1

( Environmental Chemistry )

Repicuickciool!

21. Write two components of environment. 1

el & 91 g faafau |

22. State two main sources of pollutants with suitable examples. 2

3t 3T Afed UgWehi & &1 J&F Hid JdTsy |

23. Mention two water plants by which mercury pollution can be reduced. 2

T it Wl 1 3g@ hifere, e 3R TRt ggur 9 foh S weRar 2|

24. What is meant by BOD? On what three factors does BOD value of an aquatic
system depend? 4

BOD @ &1 drcad 27 forelt stefler Fehi o1 BOD 1 o a9 shrenl 98 2T1emid 27

25. Define the term ‘background radiation’. Write any four preventive measures for
radiations. 6

gy faferor 4g =1 aftnfya shifse | fafereor T & =i =R U fafaw)
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OPTION-II
CETR M|

( Chemistry and Industry )
( TR SR 3= )

21. Branched alkylbenzene sulphonate is more biodegradable than linear alkyl-
benzene sulphonate. Is it true or false? 1

W Ufehatesia GehiHe it 31ue IMiad Ufchatsisia TohiHe At s feiga gid 21 I8
O ® A1 AT

22. Define feedstock with reference to petrochemicals. Write the names of two feed-
stocks used in petrochemical industry. 2

UEREEH & Tl H Fel YUSR I qRTYG AT YSRErH I § U & Fe USRI h
am fafan |

23. Why a rocket fuel must carry an oxidizing agent along with the fuel? 2

Tohe 4 b1 Tiaeienier ol T1Y o SIHT 1 3Ta9aeh &7

24. (a) What type of polymerization forms the polymers whose molecular mass is
not an integral multiple of that of the monomer units? Give one example of
such polymers and state its monomers.

(b) Write the names and structures of monomers and the repeating unit of
PHBYV. 4

(%) o8 TR o Sgliehol SR UH Jgaeh oFd @, (Sl 310k SoIHM Thald Tl

quf OIS A IaT? UH Sgctehl 1 Ueh 3ETEUT GISIT, 3R 3Heh Tehalehl i SaTsC|
(@) PHBV % T&Hdeh! o A d AN fIRa0| 36 S5 H SRR 3T STl Uehdh 941 6

25. (a) Why are plasticizers and binders added to paints? Write one function of
each component.

(b) What are analgesic medicines? Write two types of analgesic medicines and
write one characteristic of each which differentiates them from each other. 6

(F) U2 U wfhars (TREESR) 3R 94 (d1E-el) & ey Sd 87 I =2 &
THh-Teh T faIfan |

(@) WerRl (Tiesifen) i #=& &7 fierrl iRl & &t YR fafay 3 Jo® &
Teh-Ueh 1fycreqn fetfian e 33 s fasg fomam s wek |

* k&
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